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of awards for compilation of result.

Note ~—  Answers may be written either in English or in Hindi;' but the same medium should

be used throughout the paper.
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1. (@) Explain the situations when companies cannot issue shares at discount ? Also explain

the other conditions for the issue of shares at discount. 5
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(b)) ABC Ltd. redeemed its T 5,50,000, 5% debentures at a premium of 5%. The offer

of redemption was as follow :
(i) Holders could get cash or

(i)  Subscribe to 4% cumulative preference shares of ¥ 100 each issued at a premium

of 5% or
(iii) Take up 3% debentures of ¥ 100 each issued at a discount of 10%.

"'Debentureholders holding debentures of ¥ 2,00,000 took immediate cash, debenture-
holders holding ¥ 2,00,000 debentures agreed to subscribe to preference shares and the
balance opted for new 3% debentures. Calculate the gain/loss arising out of above transactions

and explain its nature. Pass the necessary journal entries also. 10
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What is minimum subscription ? How is it different from oversubscription and

undersubscription. Explain and illustrate. : 5

The- balance sheet of PQ Ltd. as on 31st March 2012 disclosed the

foilowing :
4
(f) Paid-up capital :
1500, 9% redeemable preference rshares of T 100 each : 1,50,000
7500 equity shares of ¥ 100 each, % 80 paid up 6,00,000
(i) Capital reserve; : 70,0'00
(fif) General reserve ‘ 1,80,000
(i) Securities premium o 10,000
(v) Profit and Loss Alc | | ‘75,000

On 6th April 20‘12, the preference shares were redeemed at a premium of 10%. For

the purpose of redemption, the company decided to :

() lssue 2500, 10% Debentures of ¥ 100 each.

(i) lssue fully paid right equity shares of % 100 each at a premium of 20% per share

in the proportion’r of one share for every 10 shares held.
b

(i) The company also converted the partly paid up equity shares into fully paid up

shares without requiring the shareholders to pay for the same.

Pass the necessary Joumal entries to record the above transactions and write the Balance

Sheet extract afier redemption. 10 '

P.T.O.
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2.  The Balance Sheets of X Ltd. as on 31st March 2011 and 31st March 2012 are given

9589

below ;

Liabilities 31-3-12 31-3-11 Assets 31-3-12| 31-3-11
4 4 T 4
Shafe capital 4,00,000 | 3,00,000 { Fixed Assets 6;00,000 5,00,000
Capita] Reserve 10,000 — | Less : Accu. Depreciation | 1,70,000 | 1,50,000
General Reserve 65,00Q 50,000 | Net Fixed Assets 4,30,000 | 3,50,000
Prﬁﬁt & Loss Alc 2,00,000 | 1,70,000 | Trade Investments 60,000 80,000
Prov. for Tax 80;000 90,000 | Stock 12,63,000 2,00,00'0
IProposed dividend . 48,000' 36,000 | Debtors 1,50,000 { 1,06,000
Other current liabilities I,S0,00G 1,40,000 | Bank 40,000 36,000
Pr'e'liminary expenses 10,000 { 20,000
9,53,000 | 7,86,000 9,53,000

7.86,000

During the year 2011-2012, the company :

(/) Sold one machine for ¥ 30,000 the cost of which was ¥ 60,000 and depreciation provided
on it was ¥ 20,000,

(if)
(i)

Paid income tax of ¥ 88.000 during the year.

(iv) Paid an interim dividend of ¥ 15,000.

Sold trade investment at a profit which was credited to capita] reserve.

Prepare cash flow statement for the year ended 3ist March 2012. Show working notes

clearly.

15
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What is meant by rebate on bills discounted ? How is it treated in the books of a

bank ? Explain and illustrate. ' 5

(b) From the followirig information of a Commercial Bank on 31st March 2012, calculate

o)

the arﬁount ‘of provision to be made for NPAS : . 5
k4

() Standard assets - 20,60,500

(ify Sub-standard assets 1,10,000

(iify Doubtful assets (secured)

upto 1 year 40,000

1-3 'years | | 25,000

.more th;m 3 years 10,500

(iv) Doubtful assets (unsecured) 22,500
- (v) Loss of gssets : 15,500

While closing the books of a bank on 3lst‘ March 2011, you find in the loan ledger
an unse‘cured balance of ¥ 5,00,000 in the account of one customer Mr. Z whose financial
condition is reported to you as bad. Interest on the same amounted to ¥ 50,000 during
the year but yet to be recovered. During 2011-12, the bank is able to realise only 80

paise in a rupee on account of customer’s bankruptey. Show the necessary journal entries

to record the above. 5
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From the following balances o_f Beta Ltd. for the year ended 31 sf March 2012, prepare final

accounts of the company taking into account the additional information :
o

4

(;.1) Building (Cbsf T :40,000) 30,000
(b) Fumitur_e (Cos.t ¥ 1,000) 500 |
(©) Mo‘tor vehicles (Cost ? 3,500 - 3,600
(d) Investme_nt in equity shares |

(Market value ¥ 22,000) 20,000
(e) Investment in 500 preference shares of ¥ 10 each ¥ 6 paid up | 3,000
(A Stock in trade at cost | - 20,060
(¢) Billsreceivable - | 5,000
() Sundry debtors 14,000
(i) Cash at Bank 8,750
(/)  Share capital :

5000 equity shares of ¥ 10 each 50,000
(k) 6% mortgage debentures 110,000
() Provision for tax - 10,000
() Sundry creditors . 5,500
(1) Discount on issue of debentures 400
{0) Pr_oﬁt and Loss A'c (Credit) | 1,000
(p) Gross profit 50,000
{¢) Dividend received 700 |

P.T.O.
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(r) Salaries 10,000
(S) Directors fees 400
(r) Interest paid on debentures . 500
(#) Auditors fees 650
(v) Trade expenses 11,600

Additional Information :

‘(i) .-]’rovi(lie 10% depreciation on or‘iginal cost of all asse'ts.

@i ]?fov?de ¥ 10,000 in respect of tax for the current year.

(5i)) 'Write ‘back ¥ 200 liability included in sundry creditors.

(iv) Market value of stock is T 18,000.

| (vj Dividend is proposed @ 20% for 2011-12.

(vi) Write off discount on issue of debentures. ' 15
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(@) What is meant by notional call ? How does this concept hélp in the valuation of partly

paid shares. Explain-with the help of an illustration. 5
() 'The following is the Balance Sheet of Bright Ltd. as on 31st March 2012 :
I Liabilities Amount - Assets Amount
4 3
Equity share capital Goodwill | 2,00,000‘ i
(Share of ¥ 10 each) 10,00,000 Equipment at Cost 18;60,000' |
General Reserve - 5,00,000 Stock | ;,003000.
| Profit and Loss Al 2,00,000 | Debors ©3,00,000
12% Debeintures 6,00,000 | Cash at Bank - 1,40,000
Provisi(;n' for Depreciation Deferred Advertisement Expenditure 60,_000 |
“on equibment 3,00,000 .
Siaff welfare fund 80,000
Proposed dividend 1,50,000
| Sundry creditors 3,70,000
32.00,000 32.00,000

R e -
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Calculate cum-dividend and ex-dividend value of equity share of the company on net

asset basis with the help of the following further information : 10
(i) A fair aftér tax return is ‘20%.

(i) Company’s income tax rate is 40%.

(i) Equipment to be revalued at ¥ 16,00,000

(iv) Stock’s net realisablc vglue is ¥ 6,00?000

(v) ¥ 20,000 in debtors are irrecoverable.

(vi) -Goodwill is to be valued at capitalisation of average annual profit after tax of last

three years.
(vii) Profits of the last three years are :
2011-12— ¥ 10,80,000, 2010-11— ¥ 10,20,000, 2009-10.—, % 12,00,000.

(%) Ffeqa Tin J ¥ AW § ? oA mmﬁwﬁmwm
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4.  The following are the Balance Sheets of X Ltd. and Y Ltd. as on 31st March 2012 :

X Ltd.

Liabilities X Ltd.. Y Litd. Assets Y Ltd.
¢ T % T
10% Preference shares Goodwill —_ 750
9f 4 .100 each 25,500 — Freehold Premises 36,000 -—
Equity shares of Machinery 1,03,530 —

T 10 each 90,000 15,000 | Fumiture | 3,360 2,250
Capital reserve . 28,800 — Trademarks _300 —
General Reserve 37,200 4,350 | Stock _ 38.400 ]5,030.
Profit & Loss Alc 3,450 660 | Debtors 10,020 3;,510
10% Debentures 15,000 _ Bills Receivable — 300

| Creditors 4,350 2,490 | Bank 6,690 660
Preliminary Exps. 3,000 —
2,01,300 22,500 12,01,300 22’,500'

On the above mentioned date X Ltd. merged with Y Ltd. The merger took place with the

following agreement :

() Y Lid. allotted 2500 equity shares to preference shareholders of X Litd.

(i) I0,000quuity shares are allotted to equity shareholders of X Ltd.

(i) Y Ltd. also agreed to convert 10% debentures of X Ltd. into equal number of 12%

debentures.

(iv) Expenses of liguidation of ¥ 4,500 were borne by Y Ltd.

P.T.O.
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(@) Calculate the purchase consideration.

9589

(b) Prepare realisation account and equity shareholders account in the books of X Ltd.

(¢) Pass necessary journal entries in the books of Y Ltd.

15

(d) P_reﬁare balance sheet of Y Ltd. after the merger.
T fa. ot g fa. & 31 7N 2012 F goR-w Frefated €
et wa . | o | uReuReEr | wew | e R
: |z S
7 100 fa W & g™ — 750
. 10% AfaarE dR| 22,500 — | it ofaw | 36,000 —
10 3 W & it 1,03,530 —
st 9 90,000 | 15,000 | R 3;360 2,250
qeft amfarfa 28,800 — | =mR-fag - 300 _
g sfufa 37,200 4,350 | @h 38,400 15,030
-l o 3,450 660 "?HETI_I' 10,020 3,510
\0%% oo 15,000 — | faa . 360‘
TR 4,350 2,490 l%m 6,690 660
," TRiYes o 3,000 —
2,01,300 22,.500:7 2,01,300
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The Balance Sheet of ABC Lid. on 31st March 2012 is as follows :

Liabilities ‘ Amount Assets Amount
10% preference shares Goodwill 1,80,000
of T 10 .each 1.00.000 | Patents 10,000

P.T.O.
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Equity shares of ¥ 10 eaci'l 5,00,000 Land and Building 2,50,000
General reserve 40,000 Macﬁinery 75,000
8% Debentures of ¥ 100 each | 40,000 | Fumiture 25,000
Bank overdraft _ 57,000 Investments - 25,000

' Creditors 180,000 | Preliminary Expenses 2,000
Profit & Loss Alc 2,50,000

8,17,000 8,17,000

The following capital reduction scheme is approved by the court :

()}  Holders of 8% debentures of ¥ 100 each are to be given new 10% debentures of

¥ 50 each for the half amount and 10% preference shares of ¥ 10 each for the

balance.

()  The value of all preference shares (including those issued to debentureholders) is to be

reduced to ¥ 6 and dividend rate is to be increased to 12%. .

(i) The value of equity shares is to be reduced to ¥ 2 each.

(iv) The existing equity shareholders will purchase additional equity shares to contribute

T 2,00,000 in cash.

(v) Bank overdrafi is to be repaid.
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(vi) .The creditors were offered either to accept 75% of the amount for cash or get payment

‘after 6 months. 50% of the creditors accepted the cash offer.

(vii) All fictitious assets and intangible assets are to be written off.”

(viii) Land and building is revalued at T 2,70,000.

(ix) Investments have a market value of T 19,000.

(x) Machinery and furniture are to be written off in proportion of book values with the help

of General Reserve and Capitél Reduction A/c balance.

Pass the necessary journal entries to record the above transactions. Prepare Capital Reduction

A/c and the Balance Sheet after such changes. - 15
wtw. fafee &1 31 WE 2012 1 GEH-IF W TSN T ':
? "z'

7 10 9fd ¥R =& g 1,80,000
10% SAaE IR 1,00,000 | W= .10,000 .

7 10 W W & e W 500,000 | gfr 3R oA 2,50,000
g 3mfEfd. 40,000 | HITQ 75,000
* 100 SR HUT B 8% FUG | 40,000 | TR 25,000
e 57,000 | fafm 25,000
| e 80,000 | WRfWer = 2,000
w-gfR e 2.50,000

8.17,000 8.17.000

P.T.O.
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5. The Balance Sheet of H 1.td. and S Ltd. on 31st March 2012 is as follows -

Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd.
2 T 4 3
Equity shares of Lland & Building 10,00,000 8.00,000
T 10 each 20,00,000 112.00,000 | Plant & Machinery 5,00,000 6,40,000
General Reserve Stock 2.80,000 3,20,000
(on 1-4-2011) 3,60,000 | 2.04,000 | Debtors 4,80,000 | 4,20,000
Profit & Loss A/c 80,000 shares in |
{on 1-4-2011) 2,40,000 96,000 S Ltd. 11,80,000 —
Profit ciﬁring the year | 4,40,000 | 3,36,000 | Bills Receivable 1,20,000 -
Bills payable — 80,000 | Cash 40,000 20,000
Creditors 5,60.000 | 2,84,000
36,00,000 22,00,000 36,00,000 | 22,00.,000

(7 H Ltd. acquired shares in S Ltd. on 1-1-2012.

| (i) S Ltd. issued all bills payable to H Ltd. Biils receivable of H Ltd. ‘include bills of
S Ltd. for T 48,000. ‘

(iif) Sundry Debtors of' S Ltd. include ¥ 40,000 owing by H Ltd.

(iv) Stock of H Ltd. includes goods worth ¥ 60,000 purchased from S Ltd. for which the

latter company has charged profit at 25% on cost.
(v)  Contingent liability for bills discounted by H Ltd. is ¥ 1.00.000,

Preparc a Consolidated Balance Sheet. 15

P.T.O.
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